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BT 5 BTH 1 5 4,5 1000 1000 2500 12500 -10 200 +104- +40
BT 17 BTH 1 5 10,5 1000 1000 6000 25000 500 + 10-4+40
PL 255 Phi 5 16 1500 2500 18500 80000 -300 2504-1000
T r -2 3 5 CCCP 2 5 12,5 700 1500 6000 -16 — 20++50
TP 1-5/2 CCCP 7 5 15 2000 2000 5000 15000 -12 +15+ +45
VHC 3/1000 SFR 5 7,5 1000 3000 30000 -7 + 40++80
XC 727 B amer 5 7 2000 2000 800 2500 -5
3 V/390 B STCE 3 5 4,5 1500 3000 15000 -6,5 2504-1000 + 35 + +75
3 V/420 B STCE 3 5 5,5 1500 2500 12500 -5 100 + 25 + +50
27 A amer 4 5 4,5 1000 1000 2500 10000 ooLOI•I*00I 2504-1000 + 40++80
414 amer 5 20 2000 17500 100 A -10
211 A amer 5 5 2,8 350 500 -20++50
629 A Wst 6 5 6 1500 2500 30000
1612 amer 5 10 2000 6400 40000
5559 int 1 5 4,5 1000 1500 2500 15000 -6,5 +-500 2504-1000 +40++80
5720 int 1 5 4,5 1000 1000 2500 15000 +10+-500 2504-1000 + 35 + +80

E q u i v a l e n t s

BT3 CCCP = TP 1 -5/2
BT 5 A BTH = BT 5
BT 35 BTH = BT 5
BT 65 BTH = BT 5
CT 1 -2500 Mul = BT 5
CT 1-6000 Mul = BT 17
FG 27 A GE 27 A
FG 33 GE - 5720
FG 57 GE = 5559
FG 67 GE = 5720

FG 112 GE = 1672
GL414 GE = 414
MT 57 Mul = 5559
PL 57 Phi = 5559
PL 5559 Phi = 5559
P T 3 CCCP = TT-235
T r -1 5 /2 0 0 0 CCCP = TP 1-5/2
TG 33 Fer = 5720
TG 57 Fer = 5559
TP1 -2,5/2 CCCP = TP 1 -5/2

TP 15/2 CCCP= TP1 -5/2
TX 920 amer 27 A
WL 33 Wst = 5720
W L 414 Wst = 414
WL 629 A Wst = 629 A
33 amer = 5720
57 amer 5559
67 GE = 5720
631 Wst = 5720
5728 GE = 5720

27A 277A 629A


